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HIMET 0.096 m? ER)
RIRAIET 0.018 m? Asik
RiET 0. 600 m?2 RM-30 t=17cm
HEREIRT 0. 600 m? |BEZHEAs t=3cm




it EZE (W@ b ) NO. 7

1020

FEF KBTS W & R EE (LOBEREY) | gy W =
WoE E !
ERRFEA BTiEAs
:-;n: L >3 VP ¢ 100 x 100
H 0. 60 m +# Y
B 1.00 m & &l g
FEkEIT e H1 1.02 m R
I H2 0.45 m HRIRH
H2' 0.52 m A Sl
H3 0.30 m HELER
B H4 0.52 m BER
= D 0.12 I EoE
2 g L 1.00 m TR
e[ 4.000 m As t=<15cm
4 - SHEERREUE T 1.000 m? As t=10cm
g \ WIREMIT | 0450 m | Bxh2xL
i N AN{EEIT 0. 509 md | BxH2 —r/4xD? xL
. FELEET | 0.180 m® | BxHIxL-Zk
VP 100 MWIBERT 0.280 m?3 Bx H4xL-{2%
HtmET 0.779 m® T8
BESMET 0. 050 m? AsBk
BAET 1.000 m? RM-30 t=17cm
HEREIRT 1.000 m? |BEZHEAs t=3cm
R LBAEEIV)) - MERIERR
fEL [0.60x0.20x1.00= 0.120
BERE  [0.60x0.40x1.00= 0. 240




T IHEE (HE @) NO. 8
ABRDIPEIEES, BERERBME W & ABREE (mSY) | gy W B
o 1 2 3 4 5 6 7
ERRFEA BTiEAs BTi8As BTiEAs BTiEAs BTiEAs BTiEAs HTiEAs
L >3 DIP$ 100 DIP & 100 DIP & 100 DIP & 100 DIP & 100 DIP & 100 DIP & 100
H 0.60 0.70 0.85 1.07 1.63 0.60 0.70 m +# Y
B 0.60 0.60 0.60 0.60 0.90 0. 60 0.60 m B #l iE
H1 0.72 0.82 0.97 1.19 1.75 0.72 1.02 m iR R
H2 0.67 0.77 0.92 1.14 1.70 0.45 0.97 m R
= = H2' - - - - - 0.22 0.00 m ASIIRHI
H3 0.30 0.40 0.55 0.77 1.33 0.30 0.40 m FETER
- & H4 0.22 0.22 0.22 0.22 0.22 0.22 0.42 m BhERE
D 0.12 0.12 0.12 0.12 0.12 0.12 0.12 m EoE
BT B As D’ 0.12 0.11 m ERER BN
-6 H' 0.60 0.90 m BT Y
SHEYIM T 2.000 2.000 2.000 2.000 2.000 2.000 2.000 m As t=15cm
_ HEREUET 0. 600 0. 600 0. 600 0. 600 0.900 0. 600 0. 600 m? As t=<10cm
o ‘ MRS T 0.402 0.462 0.552 0.684 1.530 0.270 0.582 m? BxH2x1.0
i - . = AHDEEIT — - — — - 0.121 - m® | BxH2Z —7/axD) x1.0
8 e ':l Rt g FETERT 0.180 0.240 0.330 0.462 1.197 0.180 0.240 m? BxH3x1.0
o mﬂi@g% —8— BERT 0.121 0.121 0.121 0.121 0.187 0.121 0. 241 m? | @xHa— /809 x1.0
S I\ g s HrmET 0.222 0.222 0.222 0.222 0.333 0.211 0.342 m? +8
mEwEP EHALET 0.030 0.030 0.030 0.030 0.045 0.030 0.030 m’ As3k
B 3 As BT 0. 600 0. 600 0. 600 0. 600 0.900 0. 600 0. 600 m? RM-30 t=17cm
S HEREIET 0. 600 0. 600 0. 600 0. 600 0.900 0. 600 0. 600 m?  |BLEEHEAs t=3cm
) R BEEHEAs(13) TBIT - - - - 1.000 - — m [=2.0m BRI
8 7 @RI L)
7 EERREE RM-30)
e ) i
oo
J |88 = 8
S e & g
A l " 2
g
e g S
BREHED " DIP-6X




BB

(HmE @)

NO. 10
REBDIPEIE W & ABEE -5 | egy =
b = ! 2
ERRFEA FFiEAs ¥ iEAs
& 'O DIP ¢ 100 DIP %100
H 0.80 1.00 m tHY
B 0.60 0.60 m £ Bl 18
H1 0.92 1.12 m £ & R
H2 0.82 1.02 m HARIEH
H2' - - m A EH
H3 - 0.20 m RETER
H4 0.42 0.42 m RhERE
D 0.12 0.12 m EHE
=
= YT 2.000 2.000 m As t=<15cm
SEMREUET 0. 600 0. 600 m? As t=10cm
- IR T 0.492 0.612 m? BxH2x10
q = AAfEEIT - — m® | BxH2 —n/4xD) x1.0
FETHRT 0.000 0.120 m? BxH3x1.0
WERT 0. 241 0.241 m® | BxHA—7/4xD) x1.0
BIAET 0. 492 0. 492 m® )
ERLET 0.060 0.060 m® Ashk
EERET 0. 600 0. 600 m? RM-30 t=15cm
TREBRET 0. 600 0. 600 m? RC-30 t=30cm
HERERT 0. 600 0. 600 m? |BEFHEAs t=5cm
tBIT - - m 1=2.0m R




T IHEE (HE @) NO. 11
AERDIPE IR W & ABEE (1L OERT&Y) | gy W=
WoE X 8
PTO3E As R FitiAs
~ & O /& | DIPgi00
H 1.00 m +# Y
B 0.90 m & &l g
HI 1.48 m B Hl R
H2 1.38 m TR A
R s = H2' - m ASIIRHI
= = H3 0.39 m HELER
i’ H4 0.59 m BELRE
= 8 D 0.12 m EHME
g ‘ L 1.00 m EE
8 o - REL g SEYFT | 2.000 m As t=15cm
= ? ﬁ _vij SHEERREUE T 0. 900 m? As t=10cm
= WM | 124 e B x H2xL
AHEHIT - m® | BxH2 —m/4xD? xL
& RETHRT 0.283 m® | BxH3xL—12k
: ki LihEa T — i BMERET 0.282 m? Bx H4xL—iZk
\ DIP-Xe 100 650B x 650H x 650L Sp— 0950 e i
BESMET 0.090 m? Asik
tERET 0. 900 m? RM-30 t=15cm
TR®BHET 0. 900 m? RC-30 t=30cm
SMEREIRT 0. 900 m? |BHEEHEAs t=5om
+®T - m | 1=2.0n XRIE
R LBAEEIV)) - MERIERR

e 0.65%0.16x0.65= 0.068
ROERE 0.65%0.59x0.65= 0.249




HTEE (Hm @ ) NO. 9

REBDIPEIE W & ABEE -5 | egy =
W OE E ‘ 2 3
ERRFEA BTiEAs BTi8As HTiEAs
BT & As & B0’ DIP ¢ 100 DIP ¢ 100 DIP ¢ 100
1)-1~5, (3-1~3 H 1.00 1.30 0.90 m + #W Y
B 0. 60 0. 60 0. 60 m iB &l g
HI 1.12 1.42 1.02 m B ul R
B H2 1.07 1.37 0.97 m IR
- e H2 - - - m A
5 A - ‘f H3 0.70 1.00 0. 60 m RETIER
| H4 0.22 0.22 0.22 m PR EE
% D 0.12 0.12 0.12 m Eh2
= oo % R 2 b’ - - - m BREIE
_ H’ m BRSS9 Y
v é = SHEEYINE T 2.000 2.000 2.000 m As t=<15cm
- HERRBUET 0. 600 0. 600 0. 600 m? As t=<10cm
BRI T 0.642 0.822 0.582 m? | @xH2—r/ax0 x1.0
AAEEIT - - — m® | BxH2Z —x/axD) x1.0
RELEET | 0.420 0. 600 0. 360 m? BxH3x1.0
BiERT 0.132 0.132 0.132 m® | @xHa—r/ax0) x1.0
BtmmT 0.222 0.222 0.222 m° 8
BEMET 0.030 0.030 0.030 m? As3k
BAET 0. 600 0. 600 0. 600 m? RM-30 t=17cm
SERMEAT | 0.600 0. 600 0. 600 m? |BEBHEAs t=3om
t@T - - -




T ITHEE HREF 1
W & ABEE -5 | egy =
W oE H ! 2 s
EERFER| RithAs RithAs RithAs
7 &g 0 & DIP ¢ 100 DIP¢ 75 HIVP ¢ 50
H 0.60 0.60 0.60 m +#® Y
. B 0.60 0.60 0.60 m 1B #l e
N HI 0.72 0. 69 0.76 m B BB
. g H2 0.67 0.64 0.71 m HIRA
E = H2' - - - m AN
' H3 0.30 0.30 0.30 m REHBRE
= ® o _ H4 0.22 0.19 0.26 m PhRRE
= EET ES
= g : D 0.12 0.09 0.06 m =7 %23
: ST 2,000 2,000 2,000 m As t=15cm
SSEREET | 0.600 0. 600 0. 600 m? As t=<10cm
\ AT T 0. 402 0.384 0. 426 mé BxH2x1.0
AHiEEIT - - — m3 | BxH2Z —x/4x0) x1.0
FAETHEET | 0180 0.180 0.180 mé BxH3x1.0
WEET 0. 121 0.108 0.153 m® | @xHa—x/ax0) x1.0
BtaET 0.222 0. 204 0. 246 m® T8
AREIR EAEEHEAs (13) BERLET 0.030 0.030 0.030 3 Asik
@RISR L) "
B . BEMERE RH-30) BasET 0.600 | 0.600 | 0.600 m? | RU-30 t=17cm
\ T SEEEET | 0.600 | 0.600 | 0600 m? |BEBEHEAs t=3on
\ S . .
3 = 1=2.0m H{R1EE
=
H#
— = W REL e
= £
ﬁ |
) <o
) A wam S
) s =
s
DIP-GX, HIVP




T IHEE (WE @ NO. 11
AREBDIPEIRE o & ABEE (-0BFSY) | gy =
W om = r
HEIER EiiAs
K if As &1 O® | DIPeI00
71‘ ::E’ H 0. 60 m + %Y
A o 080 m 8 4l 18
HI 0.90 m B Hl R
. H2 0.85 m HEARIE A
8uu
=== H2' - m A Sl
o As 2 H3 0.30 m HELER
3 5 o 2 H4 0. 40 m PR
| L D 0.12 m EHME
| o - 8
S | e g = L 1.00 m EE
i : SEORT 2.000 m As t=<15cm
= = SHEMREET 0. 800 m? As t=<10cm
q, WHATA T 0. 680 i BxH2xL
AN{EEIT - m® | ®x HZ —m/4xD) xL
RETERT 0.120 m? B x H3xL
BERT 0.080 m® | BxH4-0.5x0.6) xL
HtmET 0.560 m® T8
BESMET 0.040 m? Asik
tERET 0.800 m? RM-30 t=15cm
TR®BHET - m? RC-30 t=30cm
HERERT 0. 800 m? |BEFHEAs t=5cm
+®T - m | 1=2.0n XRIE
R LBAEEIV)) - MERIERR

H4ET 0.60%0.20x1.0= 0.120 (m3/m)
ROERE 0.60x0.40x1.0= 0. 240 (m3/m)




